
Completing the Square (𝑎 > 1)
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1 Write the following in the form 𝑎(𝑥 + 𝑏)² + 𝑐

1(a) 2𝑥2 + 8𝑥 + 10

[2 marks]

Answer

1(b) 2𝑥2 − 16𝑥 − 2

[2 marks]

Answer

1(c) 3𝑥2 − 24𝑥 + 6

[2 marks]

Answer

Turn over for next question

Turn over ►

6
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2 Write the following in the form 𝑎(𝑥 + 𝑏)² + 𝑐

2(a) 3𝑥² + 18𝑥 − 1

[2 marks]

Answer

2(b) 4𝑥2 − 8𝑥 − 8

[2 marks]

Answer

2(c) 6𝑥2 − 24𝑥 − 8

[2 marks]

Answer

Turn over for next question

Turn over ►

6
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3 Write the following in the form 𝑎(𝑥 + 𝑏)² + 𝑐

3(a) 3𝑥2 + 6𝑥 − 8

[2 marks]

Answer

3(b) 5𝑥2 − 20𝑥 − 12

[2 marks]

Answer

3(c) 8𝑥2 + 32𝑥 − 12

[2 marks]

Answer

Turn over for next question

Turn over ►

6
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4 A rectangle has sides of 𝑥 and (𝑥 − 2) cm.

The area of the rectangle is 16 cm2

4(a) Show that 2 𝑥 − 1 2 − 18 = 0

[3 marks]

Answer

4(b) Hence, or otherwise, find the perimeter of the rectangle.

[3 marks]

Answer

Turn over for next question

Turn over ►

6

Not drawn 

accurately

𝑥 − 2

2𝑥
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5 A small farmers field is shown below.

Given that the area of the field is 27 m2

Find the perimeter of the field in meters.

Give your answer in the form 𝑎 10 − 𝑏 where 𝑎 and 𝑏 are integers.

[6 marks]

Answer

End of Questions

END

6

Not drawn 

accurately
2𝑥

𝑥 + 6
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